8 | 7 | 6 | 5 A 4 . 3 . 2 . 1

[TEM NO. PART NUMBER DESCRIPTION QTY.
1 K1340KT1 24" stand-off pipe mount frame 1
2 K1704KT-05 Channel-inner sector frame 2
3 K1690KT-03 Channel for Sector Frame 2
4 K1690KT-04 Angle Sector Frame 1
5 K1704KT-02 Slider Plate, Taper Adjustment 1
6 H1029KT214GA3 Bolt, 5/8" x 2-1/4" (A325) HH HDG 6
7 H3012KT58GSA3 Flat washer, 5/8", SAE (A325), HDG 8
8 H3002KT58G Lock washer, 5/8", HDG 6
9 H2002KT58GA3 Nut, hex heavy 5/8" HDG A325 6
10 K2320KT18iA Threaded Rod Kit 3/4" x 18" (4 ea) HDG B7 1
50
32"
L=
-a
¢ Tapered Leg Straight Leg
- ' pemree— Tl I KENWOOD TELECOM
PACTONA 12 TILE:
) , memcaam 1% [mowm 2 ft Stand-off Mount
THREE PLACE DECIMAL: £ .010 MFG APPR. . .
DRGSR PROPRIETARY AND CONFIDENTIAL for Microwave Dish
KENWOOD [ ceese B T1704KT3A
77015756850 ofice (170 378100 fox | 0O NOTSCALE DRAWNG ROBIED. SCALE: 1:20] FINISHED WEIGHT: 163.51 [ SHEET T OF 1

8 ' 7 ' 6 ' 5 ' 4 ' 3 ' 2 i




